

SERIES INVOLVING THE LEAST AND THE GREATEST PRIME FACTOR OF A NATURAL NUMBER

GABRIEL MITITICA AND LAURENȚIU PANAITOPOL

(Communicated by J. Pečarić)

Abstract. We determine necessary and sufficient conditions satisfied by the real numbers a , b , c that the series $\sum_{n \geq 2} n^a p^b(n) P^c(n)$ is convergent. Here $p(n)$ and $P(n)$ are the least and respectively the greatest prime factor of an integer $n \geq 2$.

1. Introduction

We introduce in the first part the notations used and recall some classical results needed in the following sections. The reader is directed to references for proofs.

Let $p(n)$, $P(n)$ and p_n be, respectively, the least prime factor of $n \geq 2$, the greatest prime factor of $n \geq 2$ and the n -th prime number.

The next three results involve $p(n)$ and $P(n)$.

In [3] is shown that

$$\sum_{2 \leq n \leq x} \frac{1}{nP(n)} = e^\gamma \log \log x + O(1), \quad (1)$$

where γ stands for Euler's constant.

According to [4] (see also [1])

$$\sum_{2 \leq n \leq x} \frac{p(n)}{P(n)} = \frac{x}{\log x} + \frac{3x}{\log^2 x} + \frac{15x}{\log^3 x} + o\left(\frac{x}{\log^3 x}\right). \quad (2)$$

Moreover, in [6] is proved that

$$\sum_{2 \leq n \leq x} \frac{1}{p(n)} = x \left(A + O\left((\log x)^{-1/14}\right) \right), \quad (3)$$

where A is a constant.

Similar results can be found in [5] at pages 121–126.

Mathematics subject classification (2010): 11N05.

Keywords and phrases: Least prime factor, greatest prime factor, sums, series, asymptotic behavior.

The author gratefully acknowledges partial financial support from the grant ID-PCE 1190/2008 awarded by the Consiliul Național al Cercetării Științifice în Învățământul Superior (CNCSIS), România.

We will use several times the following results about p_n :

A. We have $p_n \sim n \log n$.

B. The series $\sum_{n \geq 1} \frac{1}{p_n}$ is divergent.

C. We have $\prod_{i=1}^n \left(1 - \frac{1}{p_i}\right) = \frac{e^{-\gamma}}{\log n} \left(1 + O\left(\frac{1}{\log n}\right)\right)$.

This result is due to Mertens and can be found e.g., in [5] at page 259.

Some other classical results needed in proofs are:

D. The series $\sum_{n \geq 1} \frac{1}{n^\alpha}$ is convergent if and only if $\alpha > 1$.

E. We have $\frac{1}{1-u} > e^u$ whenever $0 < u < 1$.

OBSERVATION 1. *The series $\sum_{n \geq 2} p^b(n)P^c(n)$ is divergent for all real numbers b and c .*

For $n = 2^i$, $i \geq 2$, we have $p(n) = P(n) = 2$ and the term 2^{b+c} occurs infinitely many times in the series.

We consider the series $\sum_{n \geq 2} n^a p^b(n)P^c(n)$ and denote it by $S(a, b, c)$. Our main result states that:

THEOREM 1. *The series $S(a, b, c)$ is convergent if and only if we have simultaneously $a \leq -1$, $a + c < -1$ and $a + b + c < -1$.*

OBSERVATION 2. *For $x \geq 2$ we denote by $S(x, a, b, c) = \sum_{n \leq x} n^a p^b(n)P^c(n)$. Since the series $S(a, b, c)$ has nonnegative terms, it is convergent if and only if $S(x, a, b, c)$ is bounded.*

OBSERVATION 3. *The nature of the series $S(a, b, c)$ is preserved by permuting its terms.*

The study can be carried out by means of the sums $S_n(a, b, c)$, where $S_n(a, b, c) = \sum_{\substack{k \geq 2 \\ P(k) \leq p_n}} k^a p^b(k)P^c(k)$. Therefore the convergence of the series $S(a, b, c)$ is still equivalent to the convergence of the sequence $(S_n(a, b, c))_{n \geq 1}$. According with the above observations, from now on, the letter S will stand for one of $S(a, b, c)$, $S_n(a, b, c)$ or $S(x, a, b, c)$.

2. Sufficient conditions for the divergence of the series S

We give in this section sufficient conditions that a , b , c must satisfy in order that series S diverges.

THEOREM 2. *The series S is divergent in each of the cases*

i) $a + b + c \geq -1$;

ii) $a + c \geq -1$;

iii) $a > -1$.

Proof. We have

$$S(x, a, b, c) = \sum_{2 \leq n \leq x} n^a p^b(n) P^c(n) \geq \sum_{p_n \leq x} p_n^a p^b(n) P^c(p_n) = \sum_{2 \leq p_n \leq x} p_n^{a+b+c}.$$

By **C.**, it follows that the series S is divergent for $a + b + c \geq -1$. We have also

$$S(x) > \sum_{2p_n \leq x} (2p_n)^a p(2p_n)^b P(2p_n)^c = 2^{a+b} \sum_{p_n \leq x/2} p_n^{a+c}.$$

If $a + c \geq -1$, then $p_n^{a+c} \geq 1/p_n$. As a consequence of **B.**, the series S is divergent.

Foe iii), we distinguish two cases.

When $0 \leq a$ we have $n^a p^b(n) P^c(n) \geq p^b(n) P^c(n)$. Now from Observation 1 the series $\sum_{n \geq 2} p^b(n) P^c(n)$ is divergent. This implies that the series $S(a, b, c)$ is divergent as well.

When $-1 < a < 0$ we have

$$\begin{aligned} S_n(a, b, c) &> \sum_{\substack{h \geq 1 \\ P(2h) \leq p_n}} (2h)^a p^b(2h) P^c(2h) = 2^{a+b} \sum_{\substack{2 \leq h \\ P(h) \leq p_n}} h^a P^c(h) \\ &= 2^{a+b} \sum_{1 \leq i \leq n} p_i^{a+c} \prod_{j \leq i} (1 + p_j^a + p_j^{2a} + \dots) \\ &= 2^{a+b} \sum_{i \leq n} p_i^{a+c} \frac{1}{\prod_{j \leq i} (1 - p_j^a)} \end{aligned}$$

In view of **E.**, the following inequality holds

$$S_n(a, b, c) \geq 2^{a+b} \sum_{i \leq n} p_i^{a+c} e^{\sum_{j \leq i} p_j^a} \tag{4}$$

For $a > -1$, it easily follows that for $i \geq 2$

$$\sum_{j=1}^i (j \log j)^a \sim \frac{1}{a+1} i^{a+1} \log^a i. \tag{5}$$

From **A.** and (5) we get $\sum_{j \leq i} p_j^a \sim \frac{1}{a+1} i^{a+1} \log^a i$. This implies the existence of a constant $C_1 > 0$ such that $\sum_{j \leq i} p_j^a > C_1 i^{a+1} \log^a i$. Thus

$$\log \left(p_i^{a+c} e^{\sum_{j \leq i} p_j^a} \right) > (a+c) \log p_i + C_1 i^{a+1} \log^a i \tag{6}$$

Define $u_i = (a+c) \log p_i + C_1 i^{a+1} \log^a i = i^{a+1} \log^a i \left(\frac{(a+c) \log p_i}{i^{a+1} \log^a i} + C_1 \right)$, for $i \geq 2$. Using that $a+1 > 0$ and **A.** it follows that $\lim_{i \rightarrow \infty} u_i = \infty$. Now (4) and (6) imply that the series $S(a, b, c)$ diverges.

3. The case $a = -1$

This section is studying the convergence of the series S when $a = -1$. We need the following

LEMMA 1. *If $\varepsilon > 0$ then the series $\sum_{n \geq 2} \frac{1}{nP^\varepsilon(n)}$ is convergent.*

Proof. We have

$$\sum_{n \geq 2} \frac{1}{nP^\varepsilon(n)} = \sum_{i \geq 1} \frac{1}{p_i^{1+\varepsilon}} \prod_{j \leq i} (1 + p_j^{-1} + p_j^{-2} + \dots) = \sum_{i \geq 1} \frac{1}{p_i^{1+\varepsilon} \prod_{j \leq i} \left(1 - \frac{1}{p_j}\right)}.$$

The result stated in **C.** gives $\prod_{j \leq i} \left(1 - \frac{1}{p_j}\right) > \frac{C_2}{\log i}$. This inequality, together with **A.**, imply the existence of $C_3 > 0$ such that $p_i > C_3 i \log i$. Therefore,

$$\frac{1}{p_i^{1+\varepsilon} \prod_{j \leq i} \left(1 - \frac{1}{p_j}\right)} < \frac{\log i}{C_2 C_3^{1+\varepsilon} i^{1+\varepsilon} \log^{1+\varepsilon} i} < \frac{1}{C_2 C_3^{1+\varepsilon} i^{1+\varepsilon}}.$$

In view of **D.**, we deduce that the series $\sum_{i \geq 1} \frac{1}{p_i^{1+\varepsilon} \prod_{j \leq i} \left(1 - \frac{1}{p_j}\right)}$ is convergent.

We are now ready to prove

THEOREM 3. *The series $\sum_{n \geq 2} \frac{p^b(n)P^c(n)}{n}$ is convergent if and only if we have both $c < 0$ and $b + c < 0$.*

Proof. For $c \geq 0$ we have $S(x) > \sum_{2p_i \leq x} \frac{p^b(2p_i)P^c(2p_i)}{2p_i} = 2^{b-1} \sum_{2p_i \leq x} p_i^{c-1}$, hence the series is divergent since $p_i^{c-1} \geq \frac{1}{p_i}$ and the series $\sum_{i \geq 1} \frac{1}{p_i}$ is divergent.

If $b + c \geq 0$, then

$$S(x) > \sum_{p_i \leq x} \frac{p^b(p_i)P^c(p_i)}{p_i} = \sum_{p_i \leq x} p_i^{b+c-1} \geq \sum_{p_i \leq x} \frac{1}{p_i}$$

hence the series is divergent.

It remains to study the case when both c and $b + c$ are negative numbers.

Denote $b + c = -\varepsilon$ with $\varepsilon > 0$.

If $b \geq 0$ then $p^b(n) \leq P^b(n)$. By Lemma 1 we have

$$S(x) \leq \sum_{n \leq x} \frac{P^{b+c}(n)}{n} = \sum_{n \leq x} \frac{1}{nP^\varepsilon(n)} < \infty.$$

If $b < 0$ then $p^b(n) < 1$ and by Lemma 1 we get $S(x) < \sum_{n \leq x} \frac{1}{nP^{-c}(n)} < \infty$, since $-c > 0$.

4. Proof of Theorem 1

Using the results of the previous two sections we can complete now the proof of the main result.

In view of Theorem 2 and Theorem 3, it remains only to show that, if $a < -1$, $a + c < -1$ and $a + b + c < -1$, then the series S is convergent.

Denote $a = -1 - t$, $a + c = -1 - y$, $a + b + c = -1 - z$ with $t, y, z > 0$. It follows that $n^a p^b(n) P^c(n) = p^{y-z}(n) P^{t-y}(n) / n^{1+t}$.

If $y \leq z$, then

$$n^a p^b(n) P^c(n) = \left(\frac{P(n)}{n}\right)^t \cdot \frac{1}{nP^y(n)} \cdot p^{y-z}(n) \leq \frac{1}{nP^y(n)}.$$

In the case $y > z$ we have $p^{y-z}(n) \leq P^{y-z}(n)$, which gives

$$n^a p^b(n) P^c(n) \leq \frac{P^{t-z}(n)}{n^{1+t}} = \left(\frac{P(n)}{n}\right)^t \cdot \frac{1}{nP^z(n)} \leq \frac{1}{nP^z(n)}.$$

In both cases, the convergence of the series S follows now by Lemma 1. \square

REFERENCES

- [1] P. ERDŐS, J. H. VAN LINT, *On the average ratio of the smallest and largest prime factor of n* , Indag. Math., **44** (1982), 127–132. (<http://alexandria.tue.nl/repository/freearticles/593444.pdf>)
- [2] S. FINCH, *Series involving arithmetic functions*, preprint, 2007. (<http://algo.inria.fr/csolve/arth.pdf>)
- [3] J.-M. DE KONINCK, R. SITARAMACHANDRA RAO, *Sums involving the largest prime divisor of an integer*, Acta Arith., **48**, 1 (1987), 3–8.
- [4] C. H. JIA, *A generalization of theorem of prime numbers*, (Chinese), Adv. in Math.(Beijing), **16** (1987), 419–426.
- [5] D. S. MITRINOVIĆ, J. SÁNDOR, B. CRSTICI, *Handbook of Number Theory*, Kluwer Academic Publishers, Dordrecht-Boston-London, 1996.
- [6] W. P. ZHANG, *Average-value estimation of a class of number-theoretic functions*, Acta Math. Sinica, **32** (1989), 260–267.

(Received March 22, 2008)

Gabriel Mititica
 QuIC Financial Technologies Inc.
 Suite 1105, 1095 W. Pender St.
 Vancouver BC, V6E 2M6
 Canada
 e-mail: gabriel.mititica@quic.com

Laurențiu Panaitopol
 University of Bucharest
 Faculty of Mathematics
 Str. Academiei 14
 010014 Bucharest
 Romania
 e-mail: lpan04@yahoo.com